	ST FOR								
QUOT No.	9703		TROY SCHOOL DISTRICT						
DUE DATE	NO LATER T	HAN	1140 RANKIN, TROY, MICHIGAN 4808						
2/28/11		3 p.m.	248-823-4052						
			FAX: 248-823-4077		DATE	2/14/11			
		THIS FORM	REQUEST FOR QUOTE – NOT AN ORDER MUST BE UTILIZED WHEN RESPONDING TO THIS REQUEST BID ENVELOPE ENCLOSED						
THE R	FQ NUMBE	R MUST APPEAR	ON ALL QUOTATIONS AND RELATED CORRESPONDENCE	E, THIS IS N	OT AN	ORDER			
Quantity			UNIT PR	ICE	AMOUNT				
	Please sup								
		Со							
	WW	/w.troy.k12.mi.us/							
		В							
	ww	w.troy.k12.mi.us/p							
	FACSIN	MILE BID IS I							
	bidders. The la	accepted if submitted afte te submission of a bid mai tion. Delays in the mail wil							
	The Board of Education The Board of Education Board	e submission of alternative sted and described, it will be ducation shall be the sole divered to the Purchasing Sales and Use Taxes and di when necessary. This re							
		ect any or all bids or to spl							
		THIS AI	REA MUST BE FILLED IN						
DELIVERY TIMI	Ē	PRICES FIRM FOR	NAME OF COMPANY	TELEPHONE NO.					
TERMS		l	NO. & STREET FAX #						
FOB	ALL DELIVERY	Y CHARGES	CITY, STATE & ZIP CODE E-MAIL						

DATE

DELIVERED BE INCLUDED IN PRICES SHOWN

SIGNATURE

CONTACT PERSON (PLEASE PRINT)

Note: All bidders are specifically reminded that a completed Affidavit of Bidder (Familial Disclosure) MUST be completed and submitted with the bid response. Failure to include a completed copy will be grounds for disqualification of bid. The Affidavit of Bidder is required to be notarized for construction bids only. All others only require completion and signature.

AFFIDAVIT OF BIDDER

The undersigned, the owner or authorized of (the "Bidder), pursuant to the familial disclosure regressed the "School District") advertise represent and warrant except as provided below between the over(s) or any employee of and any mer School District or the Superintendent of the School	ment for construction bids, hereby that no familial relationships exist
List any Familial Relationships:	
	BIDDER:
	By:
STATE OF MICHIGAN))ss. COUNTY OF)	113.
This instrument was acknowledged before me on the by	•
	,Notary Public
	County, Michigan
	My Commission Expires:
	Acting in the County of:

TROY SCHOOL DISTRICT Fall 2011/12 Athletic Equipment Bid 9703

QTY.	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
	Athens High School Football			
30	Rawlings Pro Preferred footballs			
21	Rawlings shoulder pads. 6-Medium, 6-Large, 6-XLarge, 3-XXLarge.			
12	Rawlings Aims shoulder pads. 2-Large, 5- XLarge, 5-XXLarge			
70	Rawlings game pants. Stock game pant white with red insert. 10-Small, 15-Medium, 15-Large, 15-XLarge, 10-XXLarge, 5-XXXLarge.			
	Athens High School Boys Soccer			
1 cs	12 rolls of clear mat tape for nets/goals			
3	Cramer Soccer Scorebooks			
6	#5 Brine. NCAA Red/White championship game balls			
22	Adidas ClimaCool short sleeve jersey. Color is cardinal red/white/cardinal red/lead. 6-Medium with #'s 2,3,4,5,6,7. 12-Large with #'s 8,9,10,11,12,13,14,15,16,17,18,19. 4-XLarge with #'s 20,21,22,23.			

QTY.	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
22	Adidas Climacool men's shorts. Color is cardinal red/white/cardinal red/lead. 6-Medium, 12-Large, and 4-XLarge.			
24	NCAA Formotion Elite soccer socks. Color cardinal/white.			
	Athens High School Volleyball			
2	Replacement top cable for volleyball net.			
2	Tachikara nylon tube ball bag.			
24	White Tachikara volleyballs.			
1	The Spiker. To develop hitting, jumping and spiking.			
	Athens Girls Swim			
40	Speedo Hydro Velocity Warm-up Jackets. Black w/red trim. "A" on the right side chest with "Swim and Dive" underneath. Numbers 1-40 on the upper back between shoulder blades. #'s 1-15 size Small, #'s 16-30 size Medium, #'s 31-38 size Large. 49 & 40 size XLarge.			
40	Speedo Hydro Velocity Warm up Pants. Black. "ATHENS" down the right side of pant block lettering in red. 15-Small, 15-Medium, 8-Large, 2-XLarge.			
40	Pro Backpack Color 006-red. "A" on the top main zipper pocket.			
5	Kiefer color fins. Sizes 5-7.			

QTY.	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
5	Kiefer color fins. Sizes 7-9			
15	Kiefer stroke maker hand paddles. Medium- yellow. Ages 13-15.			
15	Kiefer stroke maker hand paddles. Small-green. Ages 9-14.			
10	Kiefer classic kickboard. Color-red.			
	Troy High Football			
30	Rawlings leather footballs.			
12 dz	Black football mouthguards.			
6	Rawlings Quantum adult football helmets. Black metallic w/black masks			
2	Rawlings Aims shoulder pads. Black w/scarlet binding			
2	Rawlings Aims shoulder pads. Black w/scarlet binding			
3	Rawlings Spartan shoulder pads.			
4	Rawlings Sternum kick plate.			
4	Rawlings rear kick plate.			
24	Rawlings thigh pads 7".			
24	Rawlings knee pads.			
70	Rawlings football pants. Black w/scarlet insert and piping. To match current jersey. No fly. Cbiz cloth belt in scarlet. Sizes to be TBD.			

QTY.	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
12	Adult Zoombang 4 piece shirt.			
12	Adult Zoombang 5 piece girdle.			
1	Rogers hydration system.			
	Troy High School Boys Soccer			
25	Squadra long sleeve shirt. Color – gray with black lettering. 11-Medium, 11-Large, 3-XLarge.			
25	Squadra short. Black. 11-Medium, 11-Large, 3-XLarge.			
4	Copa Backpacks			
	Troy High Volleyball			
3	Scorebooks			
1	Wall Mounted Vertec.			
	Troy High Girls Golf			
8	Adidas Womens Climaproof Storm Soft Shell Jacket. Black. Sizes: 6-Small, 2-Medium.			
8	Adidas Womens Climaproof Storm Soft Shell Pant. Black. Sizes: 6-Small, 2-Medium.			
	Troy High Cross Country			
4	1/4" track spikes. Bag of 100.			
4	3/8" track spikes. Bag of 100.			
4	½" track spikes. Bag of 100.			
4	5/8" track spikes. Bag of 100.			

QTY.	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
20	Adidas Womens ClimaCool Singlet. White/White. "TROY" in block print on front color black. 5-XSmall, 10-Small, 5-Medium.			
20	Adidas Womens ClimaCool Shorts. Black/White. 5-XSmall, 10-Small, 5-Medium.			
	Boulan Park Middle School Girls Basketball			
12	Rawlings Leather Basketballs – Girls 28.5			
1	Sticky board			
1 cs	Ice packs.			
	Larson Middle School Girls Basketball			
12	Rawlings Leather Basketballs. Size 28.5			

COMPANY			
ADDRESS			
CITY	STATE	ZIP	
PHONE			

Troy School District										
Fall 2011/12 Athletic Equipment										
Bid 9703										
	An	aconda Sp	orts	Dimmer \	Warren Ente	erprises	ForSports			
		Unit			Unit			Unit		
Qty Description	Alt.	Cost	Total	Alt.	Cost	Total	Alt.	Cost	Total	
ATHENS FOOTBALL										
30 Rawlings Pro Football		45.25	1,357.50		51.20	1,536.00		54.95	1,648.50	
21 Rawlings Shoulder Pads			-	Titan Series	89.40	1,877.40	Titan	84.00	1,764.00	
12 Rawlings Aims Shoulder Pads		239.00	2,868.00		206.90	2,482.80	No Special Order	217.50	2,610.00	
70 Rawlings Game Pants			-		31.20	2,184.00	Stock: F45X	29.50	2,065.00	
			-			-			-	
ATHENS BOYS SOCCER			-			-			-	
1 cs 12 rolls clear mat tape for nets		-		3"	142.80	142.80			-	
3 Cramer Soccer Scorebooks			-	Big Red	4.65	13.95		9.50	28.50	
6 #5 Brine. NCAA Game Balls		39.89	239.34		41.20	247.20		55.95	335.70	
							P55769 #s front/back, front print 1			
22 Adidas ClimaCool Short Sleeve Jersey			-			-	color	26.00	572.00	
22 Adidas Climacool Mens Shorts			-			-	No Print	18.70	411.40	
24 NCAA Formotion soccer socks		8.75	210.00			-		10.25	246.00	
ATHENS VOLLEYBALL			-			-				
2 Replacement top cable for net				Incl. install	125.00	250.00				
2 Replacement top casic for net				Discontinued-	123.00	250.00				
2 Tachikara nylon tube ball bag				Wilson	24.25	48.50			-	
24 White Tachikara volleyballs				SV5W Gold	37.25	894.00	Sus	39.95	958.80	
1 The Spiker						-			-	

Troy School District										
Fall 2011/12 Athletic Ed	quipment									
Bid 9703										
		Ana	conda Sp	orts	Dimmer W	arren Ente	erprises		ForSports	
			Unit			Unit			Unit	
Qty Description		Alt.	Cost	Total	Alt.	Cost	Total	Alt.	Cost	Total
							-			-
ATHENS GIRLS SWIM					Incl. one color		-			-
40 Speedo Hydro Velocity Wa	rm Up Jacket			-	screened logo/#	46.40	1,856.00			-
40 Consider Heading Malanite (1846)	was I la Danta				Incl one color	26.40	1 450 00			
40 Speedo Hydro Velocity Wa 40 Pro Backpack	rm up Pants			-	screened logo	36.40	1,456.00		47.50	1,900.00
40 РГО Васкраск				-					47.50	1,900.00
5 Kiefer color fins, Sizes 5-7				-			-			-
5 Kiefer color fins, Sizes 7-9				-			-			-
15 Kiefer stroke maker hand p	oaddles - Med.			-			-			-
15 Kiefer stroke maker hand p	oaddles - Sm.			_			-			-
10 Kiefer classic kickboard				_			_			_
				_			_			-
TROY HIGH FOOTBALL				-			-			-
30 Rawlings leather footballs		Pro Preferred	45.25	1,357.50		51.20	1,536.00	Pro Preferred	54.95	1,648.50
The state of the s		12112121124	.5.25	1,007.00		31.20	1,000.00	. To Therefore	3 1.33	1,0 10.00
12 dz Plack football mouthground				_		5.65	67.80		0.34	48.96
12 dz. Black football mouthguard	5			-		5.05	07.80		0.34	48.96
6 Rawlings Quantum Footba	ll helmets			_			_	Buy 6, get 1 free	192.00	1,152.00

Troy	School District									
Fall	2011/12 Athletic Equipment									
Bid	9703									
		Ar	naconda Sp	orts	Dimmer W	arren Ent	erprises		ForSports	
			Unit			Unit			Unit	
Qty	Description	Alt.	Cost	Total	Alt.	Cost	Total	Alt.	Cost	Total
					Stocky Black Croy	239.20 /	479.40./			
2	Rawlings Aims Shoulder Pads			-	Stock: Black Grey Custom: Black Red	251.20	478.40 / 502.40	Must order 6 mi	n.	-
					Stock: Black Grey	239.20 /	478.40 /			
2	Rawlings Aims Shoulder Pads			-	Custom: Black Red	251.20	502.40	Must order 6 mi	n.	
3	Rawlings Spartan Shoulder Pads		115.00	345.00		108.50	325.50		99.95	299.85
4	Rawlings Sternum Kick Plate		9.75	39.00		13.70	54.80		8.95	35.80
4	Rawlings rear kick plate		11.25	45.00		14.70	58.80		10.25	41.00
24	Rawlings thigh pads 7"				Rawlings Y-Pad	5.70	136.80		4.15	99.60
24	Rawlings knee pads			_	Rawlings Y-Pad	4.20	100.80		2.95	70.80
					Rawlings Atlanta					
70	Rawlings football pants			-	Style	53.20	3,724.00	PPREC	61.75	4,322.50
12	Adult Zoombang 4 pc. Shirt		51.75	621.00	w/hard thigh	47.40 45.70 /	568.80 548.40 /		46.50	558.00
12	Adult Zoombang 5 pc. Girdle		41.25	495.00	w/soft thigh	49.90	598.80		37.00	444.00
1	Rogers hydration system			-			-			-
	TROY HIGH BOYS SOCCER			-			-	1-color #		
								Front/Back 1- color name		
35	Saundra Lang clasus chiet							GRAY NOT	22.50	F07 F0
25 25	Squadra Long sleeve shirt Squadra shorts		11.10	- 277.50		15.45	386.25	AVAILABLE No Print	23.50 12.50	587.50 312.50
4	Copa backpacks		11.10	211.30		36.40	145.60	Obsolete	12.30	312.30
	Copa sacrpaces					30.40	-	Onsolete		
	TROY HIGH VOLLEYBALL			-			-			-
3	Scorebooks			-		5.20	15.60		5.00	15.00
1	Wall Mounted Vertec			-		589.00	589.00			-

Troy	, School	District											
Fall	2011/12	2 Athleti	c Equipment										
Bid	9703												
				An	aconda Sp	orts	Dimmer W	arren Ent	erprises		ForSports		
					Unit			Unit			Unit		
Qty	Descriptio	n		Alt.	Cost	Total	Alt.	Cost	Total	Alt.	Cost	Total	
	TROVING	LI CIDI C CO	_			-			-			-	
0	1	H GIRLS GO				-			-			-	
8			aproof Jacket			-			-			-	
8	Adidas Wo	omens Clima	aproof Pant			-			-			-	
	TROV LIC	H CROSS CO	MINTOV			-			-			-	
	TKOT HIG	n CRUSS CU	OUNTRY			-			-			-	
4	1/4" track	spikes. Bag	g of 100			-		8.50	34.00		7.75	31.00	
4	3/8" track	spikes. Bag	of 100			_		9.00	36.00		7.75	31.00	
4		spikes. Bag		_		_		9.50	38.00		7.75	31.00	
4		spikes. Bag				-		9.50	38.00		7.75	31.00	
20		<u> </u>	Cool Singlet		18.75	375.00	Incl #s front & back	24.90	498.00		19.70	394.00	
20			Cool Shorts		15.59	311.80		16.90	338.00		17.45	349.00	
						-			-			-	
	BOULAN (GIRLS BASKE	TBALL			-			-			-	
				Composite									
12	Rawlings F	Basketball G	irls 28 5	Anaconda "The Rock"	24.10	289.20		32.40	388.80		35.95	431.40	
1	Sticky Boa		1113 20.3	- Inc noon	89.75	89.75		45.20	45.20		33.33	-	
1 cs	Ice Packs				8.95	8.95		14.80	14.80		13.25	13.25	
						-			-			-	
	LARSON 6	GIRLS BASKE	TBALL	Composite		-			-			-	
			Anaconda										
12	Rawlings E	Basketball Si	ze 28.5	"The Rock"	24.10	289.20		32.40	388.80		35.95	431.40	

Troy	School District								
Fall	2011/12 Athletic Equipmen	t							
Bid	9703								
		Aluminu	n Athletic Equip	S & S	S Worldw	ride	N	1-F Athle	tic
			Unit		Unit			Unit	
Qty	Description	Alt.	Cost Total	Alt.	Cost	Total	Alt.	Cost	Total
	ATHENS FOOTBALL								
30	Rawlings Pro Football		-			-			-
21	Rawlings Shoulder Pads		-			-			-
12	Rawlings Aims Shoulder Pads		_			_			_
70	Rawlings Game Pants		-			-			-
			-			-			-
	ATHENS BOYS SOCCER		-			-			-
1 cs	12 rolls clear mat tape for nets		-			-			-
				Athletic Specialties					
3	Cramer Soccer Scorebooks		-	W8548	3.97	11.91			-
6	#5 Brine. NCAA Game Balls	_	-			-			-
22	Adidas ClimaCool Short Sleeve Jersey		_			-			_
22	Adidas Climacool Mens Shorts		-			-			-
24	NCAA Formotion soccer socks		-			-			-
			-			-			-
	ATHENS VOLLEYBALL		-			-			-
2	Replacement top cable for net		-			-			-
2	Tachikara nylon tube ball bag		-	- L:		-			-
24	White Tachikara volleyballs		-	Tachikara W5864002	29.01	696.24			-
1	The Spiker		-			-			-

Tro	y School District									
Fall	2011/12 Athletic Equip	ment								
	9703									
			Aluminu	m Athletic Equip	S & S	Worldw	⁄ide	N	1-F Athle	tic
				Unit		Unit			Unit	
Qty	Description		Alt.	Cost Total	Alt.	Cost	Total	Alt.	Cost	Total
				_			_			
	ATHENS GIRLS SWIM			-			-			-
40	Speedo Hydro Velocity Warm Up	Jacket		-			-			-
40	Speedo Hydro Velocity Warm Up	Pants		_			-			-
40	Pro Backpack			-			-			-
5	Kiefer color fins, Sizes 5-7			_			-			-
5	Kiefer color fins, Sizes 7-9			_			-			-
15	Kiefer stroke maker hand paddle	s - Med.		_			-			-
15	Kiefer stroke maker hand paddle	s - Sm.		_			-			-
10	Kiefer classic kickboard			_			-			-
				-			-			-
	TROY HIGH FOOTBALL			-			-			-
30	Rawlings leather footballs			_			-			-
12 dz	. Black football mouthguards			_	Sheild W8922007 No Strap	0.29	41.76			-
6	Rawlings Quantum Football heln	nets		_			-			-

Troy	y School District									
Fall	2011/12 Athleti	c Equipment								
	9703									
			Aluminu	m Athletic Equip	S & S	S Worldw	/ide	N	/I-F Athle	tic
				Unit		Unit			Unit	
Qty	Description		Alt.	Cost Total	Alt.	Cost	Total	Alt.	Cost	Total
	I									
2	Rawlings Aims Shoulde	er Pads		-			-			-
2	Rawlings Aims Shoulde	er Pads		_			_			_
3	Rawlings Spartan Shou			_			_			
4	Rawlings Sternum Kick						_			-
4	Rawlings rear kick plat			-			-			-
24	Rawlings thigh pads 7'	1		-			-			-
24	Rawlings knee pads			-			-			-
70	Rawlings football pant	S		_			-			-
12	Adult Zoombang 4 pc.			-			-			-
12	Adult Zoombang 5 pc.	Girdle		-			-			-
1	Rogers hydration syste	em		-			-			-
				-			-			-
	TROY HIGH BOYS SOC	CER		-			-			-
25	Squadra Long sleeve s	hirt		_			-			-
25	Squadra shorts			-			-			-
4	Copa backpacks			-			-			-
				-			-			-
	TROY HIGH VOLLEYBA	ALL		-	Athletic		-			-
3	Scorebooks			_	Specialties W8546	3.97	11.91			_
1	Wall Mounted Vertec			-			-			-

Troy	/ School	District										
Fall	2011/12	Athleti	c Equipment									
	9703											
				Aluminu	ım Athleti	c Equip	S & S	Worldw	vide	IV	I-F Athle	tic
					Unit			Unit			Unit	
Qty	Description	1		Alt.	Cost	Total	Alt.	Cost	Total	Alt.	Cost	Total
	TDOVINCE	H GIRLS GOL	_			-			-			
8	1			_		-			-			-
8		mens Clima	proof Jacket	_								
0	Adidas Wo	mens ciima	proor Pant	_		-			-			-
	TROV HIGH	H CROSS CO	LINTRY			-			-			
	TKOT HIGH	1 CRO33 CO	ONTRI						_			
4	1/4" track	spikes. Bag	of 100		6.85	27.40			-	#4631	8.00	32.00
4	3/8" track	spikes. Bag	of 100		7.60	30.40			_	#4632	8.00	32.00
4		spikes. Bag			11.45	45.80			-	#4633	16.00	64.00
4		spikes. Bag			10.45	41.80			-	#4634	16.00	64.00
20	_		Cool Singlet			_			-			-
20		mens Clima				-			-			-
						-			-			-
	BOULAN G	IRLS BASKE	TBALL			-			-			-
12	Rawlings B	asketball Gi	rls 28.5			_	Rawlings W7309002	32.74	392.88			_
1	Sticky Boar					-			-			-
1 cs	Ice Packs			_		-			-			-
	LADCON C	IDI C DACKE	ED ALL			-			-			-
	LAKSUN G	IRLS BASKE	IDALL			-			-			
12	Rawlings B	asketball Siz	ze 28.5			-	Rawlings W7309002	32.74	392.88			-
							1	1				

Troy	School District									
Fall	2011/12 Athletic Equipment									
Bid	9703									
		WN	1S Aquation	cs	Pyramid S	School Pr	oducts		Riddell	
			Unit			Unit			Unit	
Qty	Description	Alt.	Cost	Total	Alt.	Cost	Total	Alt.	Cost	Total
	ATHENS FOOTBALL									
30	Rawlings Pro Football			-			-			
24	D. Karasha Ida Dala							R48000	05.00	4.705.00
21	Rawlings Shoulder Pads			-			-	Evolution	85.00	1,785.00
12	Rawlings Aims Shoulder Pads			_			_	R48030 SPX	207.00	2,484.00
70	Rawlings Game Pants			-			-	FAP03	46.20	3,234.00
				-			-			·
	ATHENS BOYS SOCCER			-			-			
1 cs	12 rolls clear mat tape for nets			-	Deviser MT384	45.00	45.00			
3	Cramer Soccer Scorebooks			-	Champion SCB1	2.82	8.46			
6	#5 Brine. NCAA Game Balls	_			BC105	35.95	215.70			
22										
22	Adidas ClimaCool Short Sleeve Jersey Adidas Climacool Mens Shorts			-			-			
24	NCAA Formotion soccer socks						_			
	110 111 011101011 356661 35685			-			-			
	ATHENS VOLLEYBALL			-			-			
2	Replacement top cable for net			-			-			
2	Tachikara nylon tube ball bag			-	Discontinued- Mikasa MVB	20.99	41.98			
24	White Tachikara volleyballs			-	SV5W5	23.88	573.12			
1	The Spiker			-			-			

Troy	School District										
Fall	2011/12 Athletic Equipr	nent									
Bid 9	9703										
			WM	S Aquati	cs	Pyramid	School Pr	oducts		Riddell	
				Unit			Unit			Unit	
Qty	Description		Alt.	Cost	Total	Alt.	Cost	Total	Alt.	Cost	Total
					_			_			
	ATHENS GIRLS SWIM				-			-			
40	Speedo Hydro Velocity Warm Up .	lacket			-			-			
40	Speedo Hydro Velocity Warm Up	Pants			-			-			
40	Pro Backpack				-			-			
5	Kiefer color fins, Sizes 5-7		WaterGear #83-90276 Blue/Yellow	17.98	89.90			-			
5	Kiefer color fins, Sizes 7-9		WaterGear #83-90277 Blue/Yellow	19.52	97.60			_			
		_	WaterGear #81-65895								
15	Kiefer stroke maker hand paddles	- Med.	Blue WaterGear	4.60	69.00			-			
15	Kiefer stroke maker hand paddles	- Sm.	#81-65895 Aqua	4.60	69.00			-			
10	Kiefer classic kickboard		Nordesco #81- 65883 Flexible	7.69	76.90			-			
					-			-			
	TROY HIGH FOOTBALL				-			-			
30	Rawlings leather footballs				-			-			
12 dz.	Black football mouthguards				-			-	R45791	4.80	57.60
										158.25 + \$15 for XL, + \$8.25 face	
6	Rawlings Quantum Football helme	ets			-			-	R41139 REVO	mask	949.50

Troy	y School District										
Fall	2011/12 Athleti	c Equipment									
	9703										
			WN	⊥ ⁄IS Aquati	ics	Pvramid	School Pr	oducts		Riddell	
				Unit		7	Unit			Unit	
Qty	Description		Alt.	Cost	Total	Alt.	Cost	Total	Alt.	Cost	Total
2	Rawlings Aims Should	er Pads			_			-	R48030 SPX	207.00	414.00
	0										
2	Rawlings Aims Should	er Pads			_			_	R48030 SPX	207.00	414.00
3	Rawlings Spartan Shou Rawlings Sternum Kick				-			-	R48010 EVX R49001	135.00 11.95	405.00 47.80
4	Rawlings rear kick plat				_				R49000	11.95	47.80
24	Rawlings thigh pads 7'	'			-			-	R48132	5.75	138.00
24	Rawlings knee pads				-			-	R48135	4.25	102.00
70	Rawlings football pant	.s			_			_	FAP12 DB	59.60	4,172.00
12	Adult Zoombang 4 pc.				_			-	111111111111111111111111111111111111111	33.00	-
12											
12	Adult Zoombang 5 pc. Rogers hydration syste				-			<u>-</u> -	R410448	640.48	640.48
	Rogers Hydration syste	2111			_			_	110110	040.48	-
	TROY HIGH BOYS SOC	CER			-			_			-
25	Carra dua I arra ala arra a	la trad									
25 25	Squadra Long sleeve s Squadra shorts	nirt			-			-			-
4	Copa backpacks				-			-			-
-	Copu buckpucks				-			-			
	TROY HIGH VOLLEYBA	ALL			-			-			-
3	Scorebooks				_			-			_
1	Wall Mounted Vertec				-			-			-

Troy	School Distric	t									
Fall	2011/12 Athlet	tic Equipment									
	9703										
			WI	MS Aquati	cs	Pyramid	School Produc	cts		Riddell	
				Unit			Unit			Unit	
Qty	Description		Alt.	Cost	Total	Alt.	Cost To	otal	Alt.	Cost	Total
	TROY HIGH GIRLS GO	N.F.			-			-			-
8	Adidas Womens Clim				-			-			
8	Adidas Womens Clim										
0	Adidas Womens Cilii	iaproor Parit			-			-			
	TROY HIGH CROSS C	OLINTRY			_			-			
4	1/4" track spikes. Ba	g of 100			-			-			
4	3/8" track spikes. Ba	ng of 100			_			_			_
4	1/2" track spikes. Ba				-			-			-
4	5/8" track spikes. Ba				-			-			-
20	Adidas Womens Clim				-			-			-
20	Adidas Womens Clim				-			-			-
					-			-			-
	BOULAN GIRLS BASK	ETBALL			-			-			-
12	Rawlings Basketball (Girls 28.5			_			_			_
1	Sticky Board				-			-			_
_											
1 cs	Ice Packs				-			-			-
	LARCON CIRLORACIO	CTD ALL			-			-			-
	LARSON GIRLS BASK	EIBALL			-			-			-
12	Rawlings Basketball S	Size 28.5			-			-			-
			1								
l											

Troy	School District								
_	2011/12 Athleti								
-	9703								
D.G.	J. 03		Ca	nnon Spo	orts	BS	N Sports		
				Unit			Unit		
Qty	Description		Alt.	Cost	Total	Alt.	Cost	Total	
	ATHENS FOOTBALL	1							
30	Rawlings Pro Football				_			_	
						Gear 2000 Z-Cool BS			
21	Rawlings Shoulder Pac	ls	_		-	1311938	124.98	2,624.58	
12	Davidia an Airea Chardal	a a Da da				Gear 2000 Z-Cool BS	124.00	1 400 76	
12 70	Rawlings Aims Shoulde Rawlings Game Pants	er Paus	_		-	1311938	124.98	1,499.76	
70	Nawiiiigs Gaille Failts		_		_			_	
	ATHENS BOYS SOCCER	?			-			-	
1 cs	12 rolls clear mat tape	for nots	CCI CE72	51.12	51.12	Gamecraft 3"x 84' 12/cs	43.68	43.68	
1 (3	12 Tolls clear mat tape	rioi fiets	CSI 6572	31.12	31.12	Gamecraft	43.00	45.00	
3	Cramer Soccer Scoreb	ooks	13127	12.89	38.67	MSSOCBOK 28 games	2.83	8.49	
6	#5 Brine. NCAA Game		49115	38.90	233.40	gaines	2.63	-	
	ing printer region Country	Dans	13113	30.30	233110				
22	Adidas ClimaCool Shor	rt Sleeve Jersey			-			-	
22	Adidas Climacool Men				-			-	
24	NCAA Formotion socce	er socks			-			-	
	ATHENS VOLLEYBALL				-			-	
2	Replacement top cable	e for net			-			-	
	replacement top cable	e ioi net			-			-	
2	Tachikara nylon tube k	oall bag			-			-	
24	White Tachikara volley	/balls	SV5WS	23.68	568.32	SV5WS	29.91	717.84	
						Spike Blaster BS-			
1	The Spiker				-	98669xx	84.98	84.98	

Troy	y School District							
	2011/12 Athletic Equipment							
	9703							
		Ca	nnon Spo	orts	BS	SN Sports		
			Unit			Unit		
Qty	Description	Alt.	Cost	Total	Alt.	Cost	Total	
	ATHENS GIRLS SWIM			-				
40	Speedo Hydro Velocity Warm Up Jacket			_			_	
40	Speedo Hydro Velocity Warm Up Pants			_			_	
40	Pro Backpack			_				
5	Kiefer color fins, Sizes 5-7	CSI 5316	14.48	72.40	Gulbenkian BS- NECI9733 no color choice	15.91	79.55	
5	Kiefer color fins, Sizes 7-9	CSI 5317	14.48	72.40	Gulbenkian BS- NECI9734 no color choice	15.91	79.55	
15	Kiefer stroke maker hand paddles - Med.			-			-	
15	Kiefer stroke maker hand paddles - Sm.			-				
10	Kiefer classic kickboard	CSI 5313 Blue	5.87	58.70	WFKick no color choice 19.5"x12"x1.5"	3.98	39.80	
				-			-	
	TROY HIGH FOOTBALL	Spalding		-			-	
30	Rawlings leather footballs	20228 JSV Silver	36.98	1,109.40	Rawlings ST5 BS- 1059236	24.98	749.40	
12 dz	Black football mouthguards	20138	5.76	69.12	Adams MSMOUTBKPK 25/pk	6.50	78.00	
6	Rawlings Quantum Football helmets			-			-	

Troy	/ School	District									
_			c Equipment								
	9703										
Dia .				C	annon Spo	orts	BS	N Sports			
					Unit	71 (3		Unit			
Qty	Description			Alt.	Cost	Total	Alt.	Cost	Total		
							Gear 2000 Z-Cool 1311938 no color				
2	Rawlings Ai	ms Shoulde	er Pads			-	choice	124.98	249.96		
							Gear 2000 Z-Cool				
2	Rawlings Ai	ms Shoulde	er Pads			-	1311938 no color choice	124.98	249.96		
3	Rawlings Sp					_	Gear 2000 XZ air BS- 1311723	89.91	269.73		
4	Rawlings St					-	1311723	05.51	-		
4	Rawlings re					-			-		
24	Rawlings th	igh nads 7"	1			_	Vinyl Dipped. BS- FBTPY 7" youth	3.79	90.96		
				_			Vinyl Dipped BS-				
24	Rawlings kr	iee pads		_		-	FBKP20 7.5"	3.29	78.96		
70	Rawlings fo	otball pant	S			-			-		
12	Adult Zoom	bang 4 pc.	Shirt			-			-		
12	Adult Zoom	bang 5 pc.	Girdle			-			-		
1	Rogers hyd	ration syste	em			-			-		
						-			-		
	TROY HIGH	BOYS SOC	CER	_		-			-		
25	Squadra Lo	ng sleeve sl	hirt			-			-		
25	Squadra sh					-			-		
4	Copa backp	acks		_					-		
	TROY HIGH	VOLLEVEA				-			-		
	ואטו ווטח	VOLLETBA				-					
2	Scorobooks			CCI 42402	4 90	1467	Gamecraft w/rally	2 77	0 21		
3	Scorebooks Wall Mount			CSI 13102	4.89	14.67	scoring	2.77	8.31		
	vvan Iviouii	LCG VCILCE									

Troy	, School	District							
Fall	2011/1	2 Athletic Equipment							
	9703								
			Ca	nnon Spo	rts	BS	N Sports		
				Unit			Unit		
Qty	Descriptio	n	Alt.	Cost	Total	Alt.	Cost	Total	
								-	
		H GIRLS GOLF			-			-	
8		omens Climaproof Jacket			-			-	
8	Adidas Wo	omens Climaproof Pant			-			-	
					-				
	TROY HIG	H CROSS COUNTRY			-			-	
4	1/4" track	spikes. Bag of 100	Pyramid 5876	8.00	32.00	Pyramid AASPKP14	6.96	27.84	
4	3/8" track	spikes. Bag of 100	Pyramid 5877	8.00	32.00			_	
4		spikes. Bag of 100			-			-	
4		spikes. Bag of 100			-			-	
20	Adidas Wo	omens ClimaCool Singlet			-			-	
20	Adidas Wo	omens ClimaCool Shorts			-			-	
					-			-	
	BOULAN (GIRLS BASKETBALL			-			-	
			Spalding						
12		Basketball Girls 28.5	04076	31.10	373.20			-	
1	Sticky Boa	rd	Cramer 5981		-	BS-2215xxxx 5"x7"		-	
1 cs	Ice Packs		16/cs	23.84	23.84	16/cs	5.41	5.41	
					-			-	
	LARSON G	IRLS BASKETBALL			-			-	
12	Rawlings [Basketball Size 28.5	Spalding 04076	31.10	373.20			_	
14	Nawiiiigs I	JUSKELDAN SIZE 20.3	04070	31.10	3/3.20				Tri County Sports: No Response
									Flaghouse: No Response
									Palos Sports: No Bid
									Signature Sports: No Response